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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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P3-4

BYiE) | GEBIATK (7)) | EBE (EA/HK) | XK R

06:30 141 90. S FiHA@06:30 (KRF{ERZE)

07:30 141 90. ES Fn#fe07:30 (KREERES)
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23t 1128.0 (8%%) 720. 3 WHKEC: 2000.0, PH: 6.5
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FRV (ml plant-1)
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P3-4_0, Day=14 (2025-04-12)
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P3-4

BfiE) | GEBIETK (D) | EE (EH/R) | XK R

01:45 120 80.0 |Z = Bi%@01:45 (RFERSE)
02:45 120 80.0 |Z =& B1%002:45 (KRFERSE)
03:45 120 80.0 |Z =& B318@03:45 (KRFEREE)
06:45 120 80.0 1] 1R1%@06:45 (K FHfERLES)
09:05 120 80.0 (&= BR1%@09:05 (RFIFERER)
10:15 120 80.0 |Z =& B218@10:15 (RFEREE)
11:20 120 80.0 5 Ri%e11:20 (KRAERKES)
12:50 120 80.0 5 BRi%@12:50 (RFERSE)
=it| 960.0 (8%) 640. 0 3203 KEC: 2000.0, PH: 6.5

REX 1 B AR ECHIE R Kk
REXR BB HEREC/PHEER K, 7T
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P3-4

BfE) | GEBAK(F) | ERE(EAH/K) (XS R

07:00 120 80.0 = B218@07:00 (FKFHERR)
07:50 120 80.0 = B1%@07:50 (KRFERSE)
08:40 120 80.0 |Z =& B1%008:40 (KRFERSE)
09:30 120 80.0 |Z =& 1B31%@09:30 (KF{EREE)
10:35 120 80.0 (&= i318@10:35 (KRFEREE)
11:40 120 80.0 (&= BRi%e11:40 (RAEMERER)
12:40 120 80.0 |Z =& Bi&@12:40 (KBEREE)
13:50 120 80.0 | =& BRi%@13:50 (RFEREES)
14:55 120 80.0 (&= BRi%e14:55 (REMERER)
16:10 120 80.0 |Z =& Bi%016:10 (REERSE)
23t 1200.0 (100%) 800. 0 3Z3KEC: 1900.0, PH: 6.5

large discrepency for begining water status (161:297.0), set to 188.0 ml.
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ET (ml/hr/plant)

P3-4_0, Day=12 (2025-04-10)
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BFE) | GEBRTIK () | ElE (EF/F) | XS R

02:15 120 70.0 ;] BRi1&@02:15 (R FfERLES)
03:15 120 70.0 1] B31&@03:15 (K FEREE)
04:15 120 70.0 1] B3i1&@04:15 (KRFERES)
08:05 120 70.0 A {31%@08:05 (K FH{ERLEE)
10:40 120 70.0 |& & B1%010:40 (RFERSE)
11:50 120 70.0 (&= Bi%011:50 (REERSE)
13:00 120 70.0 & B318@13:00 (KRFEREE)
14:05 120 70.0 5 Bi%014:05 (REERSE)
15:10 120 70.0 5 Bi%015:10 (REERSE)
21+ 1080.0 (9)%) 630. 0 3203 KEC: 2000.0, PH: 6.5

EREBRTKC (120. 0) 57a#A (109. 0) RfF, FIREH T % @RE#1RS % XER

ZRINKPRIEBL77.0 ml.
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P3-4

BFE) | GEBRTIK () | ElE (EF/F) | XS R

02:00 120 70.0 5 B1&£@02:00 (KRFERE)
03:00 120 70.0 |Z & 1B31%@03:00 (K FH{EREE)
04:00 120 70.0 5 B31&@04:00 (KF{ERES)
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21+ 1080.0 (9)%) 630. 0 3Z3KEC: 1900.0, PH: 6.5

EREBRTK (120. 0) 57a8A (109. 0) RfF, FIREH T % @RE#1RS % XER

ZRINKPRIEBL77.0 ml.

large discrepency for begining water status (191:285.0), set to 210.0 ml.
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